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FOREWORD

The National Examinations Council of Tanzania is pleased to issue this book on
the Examiners’ Report on the Performance of Candidates in the Advanced
Certificate of Secondary Education Examination (ACSEE) 2014 in Geography
subject. The report provides feedback to students, teachers, parents, policy makers
and the public in general about the performance of the candidates.

The Advanced Certificate of Secondary Education Examination marks the end of
two years of the Advanced Secondary Education. It is a summative evaluation
which among other things shows the effectiveness of the education system in
general and education delivery system in particular. Essentially, candidates
responses to the examination questions is an indicator of what the education
system was able or unable to offer to the students in their two years of Advanced
Secondary School Education.

The report highlights the analysis of the performance of candidates and some
factors behind the candidates’ good/poor performance in each question. The
feedback provided will enable the educational administrators, school managers,
teachers and students to identify proper measures to be taken in order to improve
candidates’ performance in future examinations administered by the Council.

The National Examinations Council of Tanzania will highly appreciate comments
and suggestions from teachers, students and the public in general that can be used
in improving future Examiners’ Reports.

Finally, the Council would like to express sincere appreciation to the Examination
Officers, Examiners and all who participated in the preparation of this report.

i

Dr. Charles E. Msonde

EXECUTIVE SECRETARY
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1.0

INTRODUCTION

The Advanced Certificate of Secondary Education Examination (ACSEE)
2014 in Geography subject covered the 2009 syllabus and adhered to the
2011 Examination Format. The Examination comprised of two papers, one
and two.

Paper one consisted of two sections, A and B. Section A had four questions
from Topographical Map Interpretation, Application of Statistics in
Geography, Field Research Strategies, and Photograph Interpretation.
Question number one (1) was a compulsory one and candidates were
required to choose one question from the three remaining questions.
Section B had five questions from Physical Geography out of which
candidates were required to attempt any three (3) questions. Each candidate
was required to attempt a total of five questions.

Geography paper two consisted of two sections, A and B with a total of
eight (8) questions. Section A had three (3) questions from Population and
Development. Candidates were required to attempt two (2) questions of
their choice. Section B had five (5) questions from Regional Focal Studies
where by the candidates were required to attempt any three (3). Each
candidate was required to attempt total of (5) questions.

This report analyses the performance of the candidates who sat for the
Advanced Certificate of Secondary Education Examination (ACSEE) in
Geography subject in 2014. It aims at giving a feedback to the educational
stakeholders on the performance of the candidates on each question by
showing what the candidates were required to do, as well as their strengths
and weaknesses in their responses.

A total of 19,283 candidates sat for the ACSEE in Geography paper out of

which 19,089 candidates (99.48%) percent passed while 99 Candidates
(0.52%) percent failed. Generally, the performance in 2014 increased by
2.61 percent as compared to that of 2013 in which 96.87 percent of
candidates passed and 3.13 percent failed. Samples of the candidates’
answers are attached to illustrate their responses. It is expected that the
report will be useful to educational stakeholders and will enable teachers
and students to improve the teaching and learning process in Geography
subject.



2.0

2.1

2.1.1

ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION

113/1 - GEOGRAPHY PAPER ONE

Section A: Topographical Map Interpretation, Application of Statistics
in Geography, Photograph Interpretation and Field Research
Strategies.

Question 1: Topographical Map Interpretation.

The question required the candidates to use map extract of Mpanda sheet
153/3 to: (a) Measure the length of the railway line in kilometers from grid
reference 845977 to 989022, (b) Describe the nature of settlement pattern
found in the area, (c) Explain briefly three economic activities taking place
in the area, (d) Analyse the nature and distribution of vegetation in the area,
(e) Identify the type of climate found in the area and (f) Identify the method
which has been applied to show relief of the area and give three advantages
for using such a method. The question aimed at making candidates
participate actively in map work related activities such as observing,
measuring, interpreting, recording and use the information obtained to
answer the questions asked. Total marks allocated for this question were
25. It was attempted by 99.5 percent of all the candidates.

The general performance of this question was good with majority of
candidates (92.2%) scoring 7.5 and above out of 25 marks, 2.8 percent
scored from 0 to 5 marks, 20.6 percent scored from 6 to 10 marks, 38.5
percent scored from 11 to 15 marks, 31.3 percent scored from 16 to 20
marks and 6.8 percent scored from 21 to 25 marks.

Candidates who scored a 0 mark failed to score any mark in both parts of
the question. In part (a) Candidates were unable to measure the distance of
the railway line moreover they failed to apply a formula to get actual
ground distance of the railway line.

In part (b) they failed to describe the nature of settlement pattern found in
the area instead they responded on issues which are not related to the task
of the question, for example some explained functions of settlement found
in the area while others gave site of settlement pattern.



In part (c) they were not able to explain the economic activities with
evidence from the map instead they provided irrelevant answers, for
example some explained the importance of economic activities while others
explained on social services such as schools, hospitals and religious centers
like churches and mosque.

In part (d) they failed to identify the nature and distribution of vegetation in
the area instead they provided irrelevant answers for instance some
mentioned crops like coffee, tea, sisal and maize while others mentioned
grass land, forest and mangrove.

In part (e) they failed to identify the type of climate found in the area such
as Tropical/continental climate by using evidence found on the map such
as: vegetation, latitude and longitude, presence of water bodies instead they
provided irrelevant answers for example some mentioned equatorial
climate, others mentioned climatic conditions of the area such as
temperature and rainfall.

In part (f) they failed to identify the method which has been applied to
show relief of the area among contours, spot heights and hachures which
were included on a map and some for example, explained on hill shading
and form lines, others mentioned the relief features found in the area like
mountains, hills and valleys. On the other hand they were not able to give
three advantages of using such a method. These candidates lacked skills of
observation, measurement, recording, calculation and interpretations.
Extract 1.1 is an example of such poor response.
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Extract 1.1 is a part of the answer of the candidate who failed to measure
and calculate the length of railway line in kilometers as he/she used
incorrect formula.

Candidates who scored from 1 to 5 marks failed to give correct answers to
some parts of the question. In part (a) they failed to measure and calculate
the length of the railway line. The main problem in this part was inability of
the candidates to measure and convert measurement obtained in a map to
actual  ground  distance by  using  appropriate = formulae

map.dis tan ce

scale = orlem =0.5km For example one candidate

ground .dis tan ce

wrote 1km = 2cm, others failed to obtain exact measurement of the railway
line from a map.

In part (b), some of the candidates managed to mention types of settlement
but failed to describe its pattern. In part (c) some candidates managed to
identify some of the economic activities but failed to provide the supportive
evidence to such economic activities and others were unable to relate the
existence of the climatic condition of the area with the likely economic
activities. In part (d) some managed to analyse the nature and distribution
of vegetation correctly but failed to give convincing elaborations. In part
(e) some managed to identify the type of climate with correct evidence
while others mentioned the type of climate only. In part (f) Candidates
managed to give methods which have been used to show relief of the area

4



but they either gave few correct advantages or incorrect advantages of
using such a method.

Majority of the candidates (85.4%) scored from 7.5 to 20 marks, because
they were able to measure and calculate the distance of railway line,
identify settlement patterns, explain economic activities, analyse
distribution of vegetation, identify the type of climate and methods of
showing relief on a map however, their responses revealed some
weaknesses as some of these candidates provide the evidence to support
their answers on the types of economic activities and climate found in the
map as well as the nature and distribution of vegetation while others give
advantages of the method used to show relief on a given map.

On the other hand, candidates who scored from 21 to 25 marks were able to
measure and calculate the distance of the railway line which was 23.75km.
They also managed to identify settlement patterns such as linear settlement
along the railway line and dry weather roads, clustered settlement pattern at
Mpanda town, Kasokola and Mtapenda Eastern part of the map and
scattered settlement pattern which were distributed all over the map.
Furthermore they explained the types of economic activities found on a
map such as trade, crop cultivation, small scale fishing, lumbering, mining
and pastoralism. These candidates also explained on the nature and
distribution of vegetation such as scrubs, woodland and scattered trees
which are found all over the map, North East, and the upper part of North
West and Central parts respectively. They also identified Tropical climate
as a type of climate found in the area and mentioned the methods used to
show the relief of the mapped area such as contours, spot heights and
Hachures. Extract 1.2 is an example of a good response.
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Extract 1.2 indicates a part of the responses from a candidate who
managed to measure and calculate the distance of the railway line in
kilometers. He/she also described the nature of settlement pattern in the
area correctly.

2.1.2 Question 2: Application of Statistics.
This question had two parts A and B, in part (a) candidates were required to
differentiate: (i) Inferential statistics and Descriptive statistics and (ii)
Dependent and Independent variables while part (b) required the candidates
to use the Geography scores of the Nganza Secondary School form five
student to: (i) calculate the standard deviation (ii) provide disadvantages of
the grouped data.

The question was opted for by 50.5 percent of all the candidates. The
general performance of this question was good with majority of candidates
(69.5%) scoring 4.5 marks and above out of 15 allotted marks, 2.0 percent
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scored a 0 mark, 35.3 percent scored from 1 to 5 marks, 28.7 percent scored
from 6 to 10 marks and 34 percent scored from 11 to 15 marks.

The candidates who scored a 0 mark failed to differentiate Inferential
statistics and Descriptive statistics, Dependent and Independent variables in
part A. These candidates misconceived the terms asked hence they gave
wrong definitions, for example inferential statistics was defined as
descriptive statistics and vice versa by some candidates while others gave
definitions of terms which were not asked in the question. In part B, they
failed to calculate the standard deviation and write down the advantages of
grouped data. Furthermore some were not able to give the correct formula
for standard deviation and others gave characteristics of grouped data.
Extract 2.1 is an example of a poor response.
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Candidates who scored from 1 to 5 marks had various strengths and
weakness in their responses. In part (a) they provided partial explanation on
the statistical terms while in part (b) they were able to calculate some parts,
for instance some could managed to indicate clear formula of computing a
mean and standard deviation but failed to make clear calculations while

Extract 2.1 is part of a response of a candidate who failed to differentiate

the statistical concepts and calculate the Standard deviation.
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others calculated a Standard deviation and a mean correctly without
indicating the formula used.

Candidates who scored from 6 to 10 marks had various strengths and
weakness in their responses, for example, some managed to indicate a clear
formula of computing a mean and standard deviation and arranged well the
statistical table but failed to make correct calculations while others failed to
indicate a clear formula for calculating mean and standard deviation but
arranged well the statistical table hence managed to score some marks.

Candidates who scored from 11 tol5 marks managed to provide a relevant
formulae for mean and standard deviation which are [ _ > /% and

- &

Fx — Xy respectively. Using these formulae they managed to

s

compute statistical table and calculate a mean and standard deviation which

SD =

was 11.47. Extract 2.2 is a sample of a response from the candidate who
performed well in this question.
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Extract 2.2 is a sample of part of a response from a candidate who drew
the table correctly and managed to calculate the mean and standard

deviation.

2.1.3 Question 3: Photograph Interpretation
This question had two parts A and B. The candidates were required to: (a)
Explain the types of vertical aerial photographs and (b) Describe why it is
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difficult to interpret aerial photograph. This question carried fifteen (15)
marks.

It was opted for by 17.5 percent of the candidates of which 18.2 percent
scored a 0 mark, 50 percent scored from 1 to 5 marks, 27.3 percent scored
from 6 to 10 marks and 4.5 percent scored from 11 to 15 marks. The
general performance of this question was average since 34.5 percent scored
4.5 marks and above out of 15 marks.

Candidates who scored a 0 mark failed to identify and explain the types of
Vertical aerial photographs and did not know why it is difficult to interpret
it. Some candidates defined aerial vertical photographs as oblique aerial
photographs while others provided the meaning of low oblique
photographs. Furthermore some defined Oblique aerial photographs instead
of aerial photographs. Moreover some of the candidates provided
characteristics of aerial photographs instead of describing the difficulties of
interpreting aerial photographs while others misconceived the question by
describing the disadvantages of aerial photographs. Extract 3.1 is a sample
of a response from a candidate who failed to explain the correct types of
vertical aerial photographs.

Extract 3.1
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Extract 3.1 is a sample of a response from a candidate who wrote on the
types of oblique photographs instead of types of aerial photographs.

In part (b) candidates failed to provide explanations and evidences as to
why aerial photography is difficult to interpret; instead they came up with
irrelevant points contrary to the demand of the question. Furthermore some
candidates explained characteristics of oblique photographs such as,
difficulty in interpreting since they do not show objects in three dimensions

and presence of variation of scales since they are taken from different sites,
12



involves photo mosaic method which is taking of photo pieces and join
them at certain distance and useful in making maps. Extract 3.2 is a sample
of poor response.

Extract 3.2
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Extract 3.2 is a sample of the response from a candidate who responded
on the disadvantages of ground photographs and some advantages of
Aerial photographs contrary to the demand of the question.

Candidates who scored from 1 to 5 marks provided the types of vertical
aerial photographs but failed to describe the difficulties in their
interpretations. Some of these candidates managed to provide one type of
vertical aerial photograph but provided irrelevant explanations while others

failed to provide clear explanations on why aerial photographs are difficult
to interpret.
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Candidates who scored from 6 to 10 marks had various strengths and
weakness in their responses, some managed to provide correct types and
meaning of aerial photographs while others mentioned the types of aerial
photographs. Furthermore some of these candidates provided few reasons
as to why aerial photographs are difficult to interpret while others mixed
such reasons with the characteristics of aerial photographs.

Candidates who scored from 11 to 15 marks managed to answer the
question properly. They identified and explained the types of vertical aerial
photographs as Terrestrial photographs and Extra-terrestrial photographs
and they provided reasons as to why it is difficult to interpret them. Some
of the reasons stipulated were: loosing minor details, some objects may be
obscured by other objects and they show only top view and other sides
cannot be observed or be clearly seen. Extract 3.3 is a part of candidate’s
responses who performed well in this question.

Extract 3.3
2
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Extract 3.3 shows a part of a sample of responses from a candidate who
managed to provide the types of vertical aerial photographs.
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2.1.4 Question 4: Field Research Strategies
This question had parts (a) and (b) ; in part (a) candidates were required to
distinguish various research concepts such as Research proposal and
Research Report, Qualitative Research and Quantitative research, Data
collection and Data analysis, Population and Sample while in part (b)
candidates were required to give three advantages and disadvantages of
sampling techniques. Marks allocated to this question were fifteen (15).

This question was opted by 30.6 percent of the candidates of which 0.2
percent scored a 0 mark, 18.7 percent scored from 1 to 5 marks, 66.9
percent scored from 6 to 10 marks and 14.2 percent scored from 11 to 15
marks. The general performance of this question was good since 89.1
percent scored 4.5 marks and above out of 15.

Candidates who scored a 0 mark were unable in part (a) to distinguish
research concepts such as: Research proposal and Research Report,
Qualitative Research and Quantitative Research as well as data collection
and data analysis. Some candidates provided irrelevant meanings for the
concepts asked while others only copied the concepts asked. In part (b)
they failed to give three advantages and disadvantages of sampling
techniques, for example some of the candidates gave the characteristics of
sampling techniques while others explained on types of samples in
research. Such answers show that the candidates had no knowledge on the
research concepts. Extract 4.1 is a sample of the response from a candidate
who performed poorly in this question.
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Extract 4.1 is a sample from a candidate who failed to define research
terms provided instead He/she provided definitions which are relating
with research concepts.

Candidates who scored from 1 to 5 marks some were able to distinguish
some of the research concepts and were able to provide some advantages
and disadvantages of sampling techniques with partial explanations.
Furthermore others differentiated research concepts with partial
explanations and they were able to give the advantages only.

Candidates who scored from 6 to 10 marks had various strengths and
weakness in their responses, for example, some managed to distinguish the
research concepts partially while others provided few differences.
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Furthermore some of these candidates were able to provide few advantages
and disadvantages of sampling techniques while others provided only the
advantages of it. Their scores varied with the strengths and weaknesses of
their elaborations.

Candidates who managed to score from 11 to 15 marks were able to
distinguish the research concepts correctly by stating that a Research
Proposal is a plan of action which attempts to map out the course which the
study or a researcher is going to take while Research Report is the
presentation of findings of an investigation. They also wrote that
Qualitative Research is the type of research which does not involve the use
of numerical data while Quantitative Research is the type of research which
includes techniques and measurements that involve the use of numerical
data. Moreover, they provided three advantages of sampling techniques
such as economization of resources, quick collection of data and minimal
misunderstanding between researchers and the respondent. Furthermore,
they provided the disadvantages of sampling techniques. The variation of
their scores in this group was caused by differences in strength of their
answers. Extract 4.2 is an example of a well performed response.
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Extract 4.2 is a sample from a candidate who provided the distinction

between research concepts and the advantages of sampling techni
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2.2

2.2.1

Section B: Physical Geography

This section comprised of five (5) questions set from Physical Geography
topics. Candidates were required to attempt any three (3) questions and
each question had twenty (20) marks, making a total of sixty (60) marks in
section B.

Question 5: The Dynamic Earth and Consequence (Plate tectonics
movements)

This question required the candidates to describe five causes of plate
tectonic movements and to prove their existence by providing four
evidences. It was opted for by 75.3 percent of all candidates of which 0.6
percent scored a 0 mark, 10.5 percent scored from 1 to 5 marks, 45.1
percent scored from 6 to10 marks, 41.4 percent scored from 11 tol5 marks
and 2.4 percent score from 16 to 20 marks. The general performance for
this question was good with majority of candidates (87.1%) scoring 06
marks and above.

Candidates who scored a 0 mark provided irrelevant responses contrary to
the demand of the question, for example, some responded on the causes of
plate tectonics movements such as volcanism, human activities, folding and
faulting and others explained on the advantages of plate tectonics.
Moreover poor drawing skills and labeling was noted as a serious problem
to these candidates. Extract 5.1 is an example of a response from a
candidate who performed the question poorly.
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Extract 5.1 is a sample from a candidate who combined the concepts of
vulcanism and plate tectonics instead of responding on causes of plate
tectonic movements.

Some candidates who scored from 1 to 5 marks had partial knowledge of
the question as they were able to give the causes of plate tectonic
movements but failed to prove their existence while others failed to exhaust

the demanded points.
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Some candidates who scored from 6 to 15 marks, managed to provide
relevant explanations in some points. However, they failed to score higher
marks because some provided explanations which were characterised by
illogical flow of ideas and spelling mistakes while others failed to draw
relevant diagrams. Their marks ranged from 6 to 15 marks depending on
the clarity and relevance of their explanations and examples.

On the other hand, candidates who scored from 16 to 20 marks were able to
mention and explain the causes of plate tectonic movements such as:
mantle convention, gradational differences, elevation mid oceanic ridge and
formation of new oceanic crust, furthermore they provided evidences to
prove its existence. Moreover they succeeded to draw the diagrams and
labeled them well. Extract 5.2 is a sample from a candidate who performed
this question well.
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Extract 5.2
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Extract 5.2 is a sample of a response from a candidate who provided the

causes of plate tectonic movements with the aid of relevant diagrams.

2.2.2 Question 6: The Dynamic Earth and Consequence (Vulcanism).
This question required the candidates to explain eight values of vulcanism
for the development of the society. Total marks allocated for this question
were 20. The question was opted for by 88.1 percent of the candidates
where by 3.9 percent scored from 0 to 5 marks in which 7 candidates
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scored a 0 mark, 37.9 percent scored from 6 to 10 marks, 52. 4 percent
scored from 11 to 15 marks and 5.8 percent scored from 16 to 20 marks.
The general performance for this question was good since 96.1 percent of
all the candidates who opted for it scored 6 marks and above.

The candidates who scored a 0 mark failed to explain the values of
vulcanism for the development of the society, for example, some provided
the characteristics of vulcanism while others explained on the negative
effects of vulcanism such as loss of properties and environmental pollution.
Unexpectedly, some candidates responded on the effects of endogenic
geomorphical processes. One candidate for example, provided the
following responses:

...Cause the formation of folding of the earth crust which later
results into formation of mountains...

...Results into faulting which is tearing of the earth’s crust which
cause formation of faults lines....

The above responses show that this candidate misconceived vulcanicity
with other endogenic geomorphical processes

Candidates who scored from 1 and 5 marks lacked appropriate knowledge
in answering this question. Some managed to explain values of vulcanism
but gave unsatisfactory elaborations while others just mentioned few
points.

Some of the candidates who scored from 6 to 15 marks managed to
mention correct points but provided partial explanations to some of the
points while others elaborated the points relatively well but provided false
examples. Such weaknesses made such candidates not to score more than
15 marks.

On the other hand, candidates who scored from 16 to 20 marks were able to
mention and explain the values of vulcanism for the development of the
society correctly. Some of the correct responses provided were: formation
of lakes such as Crater Lakes and lava drained lakes, development of
tourism in society due to formation of various tourist attractions like Crater
Lake, geysers and volcanic mountains and its influence in the formation of
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fertile soil which supports plant growth. Extract 6.2 shows a sample of the
candidate with correct responses in this question.

Extract 6.2
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Extract 6.2. Is a sample of responses from a candidate who managed to

mention and explain the values of vulcanism for the development of the
society.
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2.2.3 Question 7: Water masses

This question required the candidates to explain the extent to which a river
basin development is both advantageous and disastrous. The total marks
allocated for this question were 20. The question was opted by 60.6 percent
of all the candidates of which 0.3 percent scored a 0 mark, 14.8 percent
scored from 1 to 5 marks, 77.5 percent scored from 6 to 10 marks, 7.3
percent scored from 11 tol5 marks and only few candidates (0.1%) scored
from 16 to 17 marks. The general performance in this question was good
since the majority of the candidates (82.1%) scored 6 marks and above.

The candidates who scored a 0 mark failed to meet the requirements of the
question, for example some candidates provided irrelevant answers by
explaining the river profile which contains some stages of development like
youth stage, middle stage and mature stage while others explained on the
characteristics of the river basins. Extract 7.1 is an example from the
candidate who failed to provide relevant responses in this question.
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The candidates who scored from 1 to 5 marks some had partial knowledge
on the subject matter hence failed to explain the advantages and disastrous
caused by the river basins development. Some gave the meaning of a river

Extract 7.1 is an example of the responses from a candidate who wrote on
the stages of river profile instead of values and disastrous of river basins

development.
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basin and explained its few advantages while others explained only its
disadvantages.

Some of the candidates who scored from 6 to 15 marks managed to
mention correct points but provided irrelevant explanations in some of the
parts while others provided partial explanations which were characterized
by spelling mistakes. Most of the candidates who attempted this question
their responses mainly based on the advantages of river basin development
project and little were on the disasters.

Candidates who scored from 16 to 20 marks were able to show by giving
relevant examples the extent to which a river basin is advantageous by
arguing on the points such as: the development of agriculture, construction
of hydro-electric power (HEP) and controlling floods. Moreover they
managed to show how such a river basin is disastrous by providing
responses such as: occurrence of conflicts, occurrence of water borne
diseases and loss of biodiversity. These candidates met the demands of the
question but their scores varied with variations in correctness and strengths
in their explanations. Extract 7.2 is a sample from a candidate who
performed well.
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Extract 7.2 is a part of a candidate’s response who was able to provide the
advantages of a river basin development.

Question 8: Space Dynamic

This question required the candidates to describe the factors that control
global distribution of plant communities. The question carried 20 marks. It
was opted for by 36.2 percent of all candidates of which 1.2 percent scored
a 0 mark, 9.2 percent scored from 1 to 5 marks, 58.6 percent scored from 6
to 10 marks, 25.3 percent scored from 11 to 15 marks and only few
candidates (1.7%) scored from 16 to 20 marks. The general performance of
this question was good since 83 percent of candidates who opted for it
scored from 6 marks and above.

The candidates who scored a 0 mark in this question failed to describe the
factors that control global distribution of plant communities. Some
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provided irrelevant responses, for example, they wrote on ways of
conserving the environment such as reforestation and afforestation while
others explained on the types of vegetation found in different climatic
conditions while others provided irrelevant responses which have no
relationship with the question. Extract 8.1 is a sample from a candidate who
misconceived the question.

Extract 8.1
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Extract 8.1 is a part of a candidate’s responses with issues which are not related to
the question demand.
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Some candidates who scored from 1 to 5 marks were not much familiar with
this topic as they confused the factors which control global distribution of plant
community with conservation of plants in the community as a result they came
up with few correct points. Some of these candidates describe few factors that
control global distribution of plant communities while others mix the factors
with ways of conserving plants in the community.

The candidates who scored from 6 to 15 marks managed to mention few
correct points with clear explanations while others provided correct points with
partial explanation. Some candidates showed more strengths and strong
arguments in their elaborations hence scored up to 15 marks.

The responses of the candidates who scored from 16 to 20 marks were more
convincing. They provided good introductions and managed to mention and
describe the factors that control global distribution of plant communities such
as; climatic factors, topographical factors, edaphic factors, and biotic factors.
Variations in the accuracy of their responses rendered their marks to vary from
16 to 20. Extract 8.2 is an example of the candidates who performed well in
this question.
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Extract 8.2 is a part of a response from a candidate who explained the
factors that control global distribution of plants communities correctly.

2.2.5 Question 9: Study of soils

The question required the candidates to analyse six (6) properties to be
considered when studying a soil profile at the field. The total marks for this
question were twenty (20). It was opted for by 35.5 percent of all
candidates of which 0.5 percent scored a 0 mark, 14.4 percent scored from
1 to 5 marks, 42.7 percent scored from 6 to 10 marks, 37.4 percent scored
from 11 to 15 marks and 5 percent scored from 16 to 20 marks. The general
performance for this question was good since the majority of the candidates
(82.5%) scored 6 marks and above while very few candidates (0.5%)
scored a 0 mark.
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The candidates who scored a 0 mark failed to analyse the properties to be
considered when studying a soil profile at the field. Some of the candidates
explained the factors for soil formation and parts of soil profile while others
explained on components of soil such as organic matter, inorganic matter,
soil water, soil colour and soil depth. Extract 9.1 represents a sample of a
poor responses.

Extract 9.1
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Extract 9.1 shows a part of a response from a candidate who explained the
parts of a soil profile instead of the factors to be considered when studying
a soil profile

Candidates who scored from 1 and 5 marks mixed up the concepts of
properties to be considered in studying soil profile with other similar
related concepts such as factors affecting soil profile and the classification
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of soil profile. Such controversial arguments lowered their performance in
this question.

Some of the candidates who scored from 6 to 15 marks managed to analyse
few properties with clear elaborations while others provided partial analysis
to some points. Such responses shows that these candidates had partial
knowledge in this topic

On the other hand candidates who scored from 16 to 20 marks exhausted
the points by providing relevant introductions, analysing the properties to
be considered when studying a soil profile at the field such as soil texture,
soil depth, soil structure, soil temperature, soil moisture/porosity and
organic matter. These candidates also provided relevant examples and clear
conclusions therefore scored higher marks. Extract 9.2 represents a sample
of response from a candidate who answered this question well.
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Extract 9.2
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Extract 9.2 represents a part of a response from a candidate who defined a
soil profile and analysed properties to be considered when studying this
profile.
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3.0
3.1

3.1.1

113/2: GEOGRAPHY PAPER TWO
SECTION A: Population and Development

Question 1: Population and Development

This question required the candidates to analyze seven measures to be taken
in checking the fast growing fertility rate in Africa. The total marks
allocated to this question were 20.

The question was opted for by 81.9 percent of all candidates of which 1.0
percent scored a 0 mark, 19.3 percent scored from 1 to 5 marks, 62 percent
scored from 6 to 10 marks, 17.6 percent scored from 11 to 15 marks and
few candidates (0.1%) scored from 16 to 20 marks. The general
performance in this question was good since 79.7 percent of the candidates
who opted for it scored 6 marks and above.

Candidates who scored a 0 mark failed to explain the measures to be taken
in checking the fast growing fertility rate in Africa. For example, some
candidates provided factors for population growth such as, availability of
health services, availability of food, and early marriage while others
explained on the problems of high population in Africa. Extract 1.1 is an
example of the candidates who failed to give correct responses to the
question.
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Extract 1.1
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Extract 1.1 is a sample of a response from a candidate who provided
irrelevant answers by writing factors which activated the population
increase instead of measures for checking fast population growth.

Candidates who scored from 1 to 5 marks showed inadequate knowledge
on the subtopic, for instance, some managed to give some correct points but
provided false elaborations and others mixed relevant and irrelevant points.

Candidates who scored from 6 to 10 marks were able to analyse the
measures to be taken to check the fast growing fertility rate in Africa but
failed to give strong elaborations in some points. Furthermore some of
these candidates failed to give relevant introductions and conclusions. The
scores of these candidates ranged from 6 to 10 because of variations in the
weaknesses and strengths of their elaborations.

On the other hand candidates who scored from 11 to 15 marks managed to
give correct introductions and explain the measures of checking fast
growing fertility rate in Africa, however, their responses revealed some
weaknesses as some of the candidates provided few points with strong
arguments while others had many points with weak arguments.

Candidates who scored from 16 to 20 marks managed to give the meaning
of fertility rate and explained the measures to be taken in checking the fast
growing fertility rate in Africa by elaborating points like, discouraging

38



early marriage, provision of education on family planning methods,
encouraging long time schooling, discouraging polygamous and wrong
traditional beliefs like child preferences. Furthermore, these candidates
provided relevant conclusions. The difference in the clarity of their
explanations and clarifications caused disparities in their scores. These
candidates showed knowledge on the subject matter. Extract 1.2 is an

example from a candidate who managed to answer this question relatively
well.

Extr
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Extract 1.2 is part of a response from a candidate who gave a relatively
correct introduction and explained the measures to be taken in checking
the fast growing fertility rate in Africa.

39



3.1.2 Question 2: Population and Development
In this question the candidates were required to justify the fact that
population policy in Tanzania is not effective. Marks allocated for the
question were 20.

The candidates who opted for this question were 48.6 percent. Few
candidates (3.3%) scored a 0 mark, while 75 percent scored from 1 to 5
marks, 19.2 percent scored from 6 to 10 marks, 2.5 percent scored from 11
to 15 marks. The general performance in this question was poor since only
21.7 percent of all candidates who opted for it scored 6 marks and above.

Candidates who scored a 0 mark failed to give justifications on the
effectiveness of population policy in Tanzania instead they gave irrelevant
answers, for example, some explained the problems facing population
policy development in Tanzania such as: lack of human resources while
others misconceived the question by explaining advantages of population
policy such as its ability to control: migration of people and fertility.
Extract 2.1 indicates part of a candidate’s poor response.

40



Extract 2.1
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Extract 2.1 is part of a candidate’s irrelevant response in which the
candidate explained the problems facing population policy development in

Tanzania.

Candidates who scored from 1 to 5 marks lacked appropriate knowledge in
answering this question. They managed to give few correct points on the
effectiveness of population policy in Tanzania but failed to give clear
elaborations on their justifications, for example some candidates provided
few correct justifications and others gave partial elaborations on the
effectiveness of population policy in Tanzania. These limitations hindered

such candidates to score high marks.
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On the other hand candidates who scored from 6 to 10 marks managed to
give the meaning of population policy and explained only few points. Also
few candidates in this group mixed up the ideas like population policy
problems with the justification of the effectiveness of population policy in
Tanzania.

Candidates who scored from 11 to 15 marks proved to have knowledge of
population policy in Tanzania as they were able to provide correct
meaning of population policy and gave justifications as to why population
policy is not effective in Tanzania, however, their responses revealed some
weaknesses as some of these candidates gave justifications with clear
elaborations while others provided the meaning of population policy and
gave few justifications with elaborations and a relevant conclusions. These
candidates failed to score not more than 15 marks.

Candidates who scored from 16 to 20 marks their answers were more
convincing. They showed good knowledge of the topic and had good
organization of ideas, and clear explanations such as: presence of rapid
increase in population, poor settlements in urban areas, critical shortage of
social services, food shortage, presence of street children and increase in
illegal migrants. These candidates showed strong arguments in justifying
the effectiveness of population policy in Tanzania. Extract 2.2 is a sample
of such a response.
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Extract 2.2
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Extract 2.2 is a sample of response from a candidate who managed to give
justifications as to why population policy in Tanzania is not effective.

3.1.3 Question 3: Population and Development
This question had two parts, A and B, in part (a), candidates were required
to define population pressure, total fertility rate, crude birth rate and crude
death rate. Part (b) demanded the candidates to explain the social,
economic and cultural factors influencing mortality rate in Tanzania. Total
marks allotted for this question were 20.

The question was opted for by 68.1 percent of all candidates where by 0.7
percent scored a 0 mark, 33.4 percent scored from 1 to 5 marks, 55.8
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percent scored from 6 to 10 marks, 10.6 percent scored from 11 to 15
marks and 0.2 percent scored from 16 to 20 marks. The general
performance in this question was good since 61.5 percent of all candidates
who opted for it scored 6 marks and above.

Candidates who scored a 0 mark failed to give the definitions of the terms
(concepts) asked which are related to demography and were unable to
explain social, economic and cultural factors influencing mortality rate in
Tanzania. Majority of these candidates explained on the problems of high
mortality rate in Tanzania while others gave the effects of high mortality
rate in society. This shows that some of the candidates had no knowledge
on population issues while others misconceived the question by providing
irrelevant responses contrary to the demands of the question. Extract 3.1 is
an example of a poor response provided by a candidate.
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Extract 3.1
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Extract 3.1 presents part a of response from a candidate who failed to

define demographic terms and explain factors influencing mortality rate in
Tanzania.

Candidates who scored from 1 to 5 marks had a lot of weaknesses in their

responses compared to the previous group, except that they possessed

some strength in defining population terms asked where as in part two

they failed to give sounding elaborations on the social, economic and
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cultural factors influencing mortality rate in Tanzania. Furthermore some
candidates responded on the social factor that influence mortality rate
while others explain on economic factors only.

Candidates who scored from 6 to 10 marks managed to present correct
meaning of some of the population terms asked and in part (b) could not
sufficiently exhaust the factors that influences mortality rate in Tanzania,
however their responses revealed some weaknesses as some gave clear
elaborations while others gave few factors. This in turn contributed to their
unsatisfactory performance.

Candidates who scored from 11 to 15 marks managed to give the meaning
of population terms correctly and mentioned the social, economic and
cultural factors influencing mortality rate in Tanzania with clear
elaborations. However some of these candidates failed to give relevant
conclusions in part (b) as the strength in their elaborations caused
variations of their scores.

Candidates who scored from 16 to 20 marks managed to provide good
definitions of the demographic terms asked. They also succeeded to
explain and elaborate the social, economic and cultural factors influencing
mortality rate in Tanzania such as poor economic performance and per
capital income, contamination of water, poor technology on medical
facilities, lack of education, poor child spacing and killing children with
disorders in some societies. Such candidates were able to provide the
correct responses because they were familiar with the factors influencing
mortality rate in Tanzania since issues pertaining to demography are
popularly addressed in mass media. Extract 3.2 provides a sample of the
answers of the candidates who managed to answer the question relatively
well.
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Extract 3.1 presents part of a candidate’s good response. This candidate
managed to define demographic terms and explain factors influencing
mortality rate in Tanzania.
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3.2
3.2.1

SECTION B (REGIONAL FOCAL STUDIES)
Question 4: Sustainable use of Fuel and Power

This question required the candidates to discuss the statement that Energy
crisis is likely to be a more serious threat for development in developing
countries and to suggest three measures to avoid the problems. The total
marks allocated to this question were 20.

The question was opted for by 22.1 percent of all candidates where by 6.7
percent scored a 0 mark, 55.6 percent scored from 1 to 5 marks, 34.8
percent scored from 6 to 10 marks, 2.8 percent scored from 11 tol5 marks
and 0.1 percent scored from 16 to 20 marks. The performance in general
was average since only 37.7 percent of the candidates who opted for it
scored 6 marks and above.

Candidates who scored a 0 mark, provided irrelevant answers, some
explained the types of energy resources while others gave the importance of
energy resources for the development of developing countries. Extract 4.1
is a sample of a response by a candidate who did not meet the requirements
of the question.
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Extract 4.1
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Candidates who scored from 1 to 5 marks showed partial understanding of
the subject matter as some outlined the factors for energy crisis but failed to
support them with strong arguments while others only mentioned few

Extract 4.1 is a sample response from a candidate who failed to explain
why energy crisis is likely to be a more serious threat for development in
developing countries instead she/he explained the effects of energy

production.

measures to overcome the crisis

Candidates who scored from 6 to 10 marks showed some positivity in their
explanations as they explained the needed points clearly. Some of them
provided few explanations while others fragmented major points into sub
points and this led to repetitions of some points such as high cost for energy
resources was repeated as lack of capital to establish energy resources in
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homesteads. However, there were variations in their scores depending on
the correctness and strength of their responses.

Candidates who scored from 11 to 15 were able to produce correct
responses to the question. They gave correct points and elaborations as to
why energy crisis is likely to be a more serious threat for development in
developing countries. However, some failed to give the measures and
others could not give appropriate conclusions and this made them to score
not more than 15 marks.

Candidates who scored from 16 to 20 marks out of the 20 allotted marks
provided good introductions, mentioned and discussed the reasons for the
energy crisis in low developing countries such as, low technology, absence
of reliable energy supply, high cost/price of the energy service given and
lack of skilled labor. Furthermore, they were able to suggest measures to
avoid the problem of energy crisis like “to have renewable energy resources
like solar power, wind power and to encourage energy serving machines in
the societies. These candidates showed understanding of the subject matter.
Differences in their scores were determined by the variations in the
accuracy and intensity of their elaborations. Extract 4.2 provides a part of
the answer of a candidate who managed to answer the question relatively
well.
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Extract 4.2
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Extract 4.2 represents a well done response. The candidate managed to
give correct explanations on energy threats to low developing countries
and suggested the possible measures to overcome the threats.

3.2.2 Question 5: Sustainable Fishing
In this question candidates were required to evaluate the global efforts that
have been made on the management and conservation of fisheries. The
question had 20 marks. It was opted for by 42.2 percent of all the candidates
of which 0.6 percent scored a 0 mark, 32.4 percent scored from 1 to 5
marks, 56.5 percent scored from 6 to 10 marks, 10.2 percent scored from 11
to 15 marks and 0.3 percent scored from 16 to 20 marks. The performance in
this question was good as 67 percent of all candidates scored above 6 marks.
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Candidates who scored a 0 mark failed to evaluate the global efforts that
have been made on the management and conservation of fisheries. Some
provided the problems facing fisheries while others outlined environmental
problems affecting fishing industries such as: climatic change and pollution
in water bodies. Extract 5.1 represents the candidate with a poor response.

Extract 5.1
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Extract 5.1 presents part of a candidate’s response who failed to address
the global effort to be taken in fish conservation instead she/he wrote on
how to improve keeping of fish after fishing.

Candidates who scored from 1 to 5 marks showed some strength in their
answers which made them differ with the previous group. Some were able
to identify some correct points but their explanations were partial while
others combined the global efforts made on the management and
conservation of fisheries with the environmental problems facing fisheries.

Candidates who scored from 6 to 10 marks managed to present relevant
points to the requirement of the question but failed to give detailed
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explanations to support their answers. Most of them could not exhaust all
the correct explanations hence failed to score above 10 marks.

Candidates who scored from 11 to 15 marks showed knowledge of the
global sustainable fishing activities as they were able to give correct
introductions and evaluate the global efforts towards management and
conservation of fisheries. However, their responses portrayed same
weaknesses as some provided incorrect introductions and others gave
insufficient explanations and conclusions.

Candidates who scored from 16 to 17 marks managed to provide good
introductions and evaluate the global efforts that have been made on the
management and conservation of fisheries. Some of their correct responses
were such as the use of licenses to fishermen in order to control their
number, encourage the use of standardized size of mesh recommended for
all fishing activities, restriction fishing activities to specific seasons so as to
allow breeding and restriction on disposal of untreated wastes into water
bodies where there are fishing activities. Furthermore these candidates
provided relevant conclusions in which some suggested the measures to be
taken to overcome the threats. Extract 5.2 is a sample of a response from a
candidate who answered the question correctly.
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fisheries.

Question 6: Environmental Friendly Tourism
The question required the candidates to examine the future prospects of

Tourism industry in Tanzania by giving eight (8) points. The question had

Extract 5.2 is a sample of a response from a candidate who gave the global
efforts that have been made on the management and conservation of

20 marks. It was opted for by 65.8 percent of the candidates of which 20.6
percent scored a 0 mark, 61.7 percent scored from 1 to 5 marks, 14.4
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percent scored from 6 to 10 marks, 3.2 percent scored from 11 to 15 marks
and very few candidates (0.1%) scored from 16 to 20 marks out of 20
allotted marks. The general performance of this question was average since
37.7% of all candidates who opted for it scored 6 marks and above out of
20 marks.

Candidates who scored a 0 mark in this question failed to examine the
future prospects of Tourism industry in Tanzania. These candidates showed
lack of knowledge of the subject matter. Some of the candidates provided
the importance of tourism in Tanzania such as increase in employment
opportunities, increase of the level of investment and earning foreign
currency while others provided disadvantages of tourism. Extract 6.1
presents a sample of response by a candidate who provided an
inappropriate response contrary to the demands of the question.
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Some candidates who scored from 1 to 5 marks showed partial knowledge
of the subject matter as they were able to examine only few points on the
future prospects of Tourism industry in Tanzania and others gave the
correct meaning of tourism and examined correct points on the future
prospects of tourism in Tanzania but gave unacceptable elaborations.

“hadleny,

— Y1t

Extract 6.1 presents the response for a candidate who explained the
importance of tourism instead of the future prospects of tourism in

Tanzania.
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Candidates who scored from 6 to 10 marks were able to examine the
prospects of tourism in Tanzania and give few strong arguments to support
the points mentioned. Moreover they were able to give some examples in
their explanations which made their scores to differ with the previous

group.

Candidates who scored from 11 to 15 marks were not able to give sufficient
introductions, however they were able to examine correct prospects of
tourism in Tanzania. Furthermore some these candidates failed to give
relevant conclusions to their essays which made them to score not more
than 15 marks.

On the other hand candidates who scored from 16 to 20 marks provided
sound introduction and managed to examine the future prospects of tourism
industry in Tanzania with some examples, some of the points provided
were: the presence of world largest game sanctuaries, improvement in
transport and communication and the existence of peace and security in the
country. However the scores of these candidates ranged from 16 to 20
because of the wvariations in the accuracy and correctness of their
elaborations.  Extract 6.2 shows a response from a candidate who
performed well this question.
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Extract 6:2
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Extract 6.2 presents part of a response of a candidate who managed to
explain the future prospects of tourism industry in Tanzania.
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3.2.4 Question 7: Agricultural Development

The candidates were required to describe eight contributions of Tree crop
farming in the socio-economic development of Nigeria. The question
carried 20 marks. It was opted for by 73.8 percent of the candidates of
which 0.3 percent scored a 0 mark, 11 percent scored from 1 to 5 marks,
52.8 percent scored from 6 to 10 marks, 35.4 percent scored from 11 to 15
marks and few candidates (0.5%) scored from 16 to 20 out of 20 allotted
marks. The general performance in this question was good since 88.7
percent of all the candidates who opted for it scored 6 marks and above.

Candidates who scored a 0 mark showed misconception of the question as
they provided irrelevant answers, for example, some explained on negative
effects of socio-economic activities on tree such as deforestation and
pollution while others identified the environmental problems affecting tree
crop farming. The following is an irrelevant responses provided by one of
the candidates:

...Farming activities in different areas may cause destruction of tree
crops, hence leads to low contribution to social-economic development of
Nigeria.

...Mining activities in places where there are minerals causes the cutting
of trees and loss of biodiversity which affects the socio-economic
development of tree crops in Nigeria.

This candidate explained on the environmental problems caused by economic
activities contrary to the requirement of the question.

Candidates who scored from 1 to 5 marks mixed up relevant and irrelevant
explanations. Moreover some of their relevant explanations were partial
which in turn contributed to their unsatisfactory performance.

The candidates who scored from 6 to 10 marks some were able to provide
few correct points and others showed misconceptions to the questions in
some points. They managed to score more marks than the previous group
because their correct points were well explained.

Candidates who scored from 11 to 15 marks were able to give correct
introduction and provided more points with convincing elaborations to
supports their answers, however, their responses revealed some weaknesses
as some provided relevant introduction while others provided a suitable
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conclusion. However their marks varied depending on the strength of the
points.

Candidates who scored from 16 to 20 marks provided good introductions
and they were able to mention and describe the eight contributions of tree
crop farming in the social economic development of Nigeria such as
creation of employment opportunities, creation regular income for farmers,
stimulating the development of research on other crop productions and
stimulating the development of industries that use palm oil and other tree
crop products as raw materials. Furthermore they were able to provide
relevant conclusions to their essays. Extract 7.2 provides a sample for a
candidate who managed to answer the question correctly.

Extract 7.2
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Extract 7.2 is a response for a candidate who provided a relevant
response by explaining the contributions of tree crops in Nigeria.
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3.2.5 Question 8: Manufacturing Industries

The question required the candidates to give an account of eight factors
leading to the development of aircraft industry in the United States of
America. The question had 20 marks. It was opted for by 93.8 percent of
the candidate of which 0.1 percent scored a 0 mark, 1.3 percent scored from
1 to 5 marks, 17.2 percent scored from 6 to 10 marks, 59.2 percent scored
from 11 to 15 marks and 22.2 percent scored from 16 to 20 marks out of
the 20 allotted marks. The general performance of this question was good
since 98.6 percent of all candidates who opted for it scored 6 marks and
above.

Candidates who scored a 0 mark failed to meet the requirements of the
question. Some candidates provided irrelevant introduction and explained
on advantages of air craft such as: simplification of transportation of goods
and passengers and improvement of income in United States of America
income while others gave the importance of aircraft in the United States of
America such as transportation of goods and services, quick means of
transport, and transport valuable commodities. These candidates showed
lack of knowledge in the subject matter which in turn caused
misunderstanding of the question demands. Extract 8.1 is an example of a
poor response provided by a candidate.
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Extract 8.1
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Extract 8.1 is a sample of a response from a candidate who
irrelevant responses contrary to the demands of the question.

wrote

Candidates who scored from 1 to 5 marks had several weaknesses in their
responses, for example, some mentioned correct points but failed to give
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correct elaborations in some points while others elaborated only on few
points.

Candidates who scored from 6 to 10 marks were able to provide few points
on the factors for the development of aircraft industry in the United States
of America. Moreover they gave only few examples in their elaborations to
support their points. The disparity in their marks was a result of partial
explanations.

Candidates who scored from 11 to 15 marks, were able to provide detailed
introduction and explained the factors for development of Air craft
industries in the United States of America however, their responses
revealed some weaknesses as some managed to provide -correct
introductions while others provided relevant conclusions. The variation of
their elaborations caused disparities in their scores as others failed to give
relevant conclusion in their essays.

Candidates who scored from 16 to 20 marks managed to answer the
question correctly; they identified and explained eight factors leading to the
development of aircraft industry in the United States of America by citing
examples and providing clear explanations. For example some candidates
responses were: availability of capital, wide market demand and supply of
aircraft product worldwide, self-determination of the people of USA, strong
need for space craft’s exploration and pre-existing technical advancement
involved in the fast aircraft industry development. These candidates were
able to give clear and relevant introductions and conclusions. Extract 8.2 is
a sample from a candidate who provided relevant answers in this question.
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Extract 8.2
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Extract 8.2: is a response from a candidate who explained relevant factors
leading to the development of aircraft industries in USA.
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4.0

CONCLUSION

As it is observed in the analysis per question, the performance in the
Geography subject for Advanced Certificate of Secondary Education
Examination (ACSEE) 2014 was good. However, it has been noted
that: the candidates with poor responses were influenced by a number
of factors such as; lack of knowledge of the concept related to the
question, incompetence in different skills like Mathematical, drawing
and writing. Moreover poor transfer of knowledge made the candidates
fail to meet the requirements of the question as well as the
misinterpretation of questions was seen as a problem limiting the
performance of the candidates.

The analysis of the candidates’ performance shows that some questions
were not performed well. In Geography paper One question number 3
which was set from Photograph Interpretation topic had average
performance while question 1, 2, 4, 5, 6, 7, 8 and 9 which were set from
the following topics: Topographic Map Interpretation, Application of
Statistics in Geography, Field Research Strategies, The Dynamic Earth
and Consequences and Water Masses had good performance. In
Geography paper Two, question 6 and 2 which were set from
Environmental friendly Tourism and Population and development was
performed poorly. Question number 4 which was set from Sustainable
use of Fuel and Power had an average performance. Question number
1, 2, 3, 5, 7 and 8 which were set from Population and Development,
Manufacturing industries, Agricultural development and Sustainable
fishing topics were performed well. (See appendix)
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5.0

RECOMMENDATIONS
In order to improve the performance in Geography subject. The Geography
panel suggests the following;-

» Teachers should make sure that all topics are well covered so that
candidates can be knowledgeable in all specified areas according to the
syllabus.

» Students should be encouraged to read different sources such as books,
journals and pamphlets in order to widen their knowledge on the
information on various topics about Physical Geography, Practical
Geography, Population studies and Regional Focal studies.

» Teachers are advised to guide the students on how to identify the
tasks/requirements in a given question so as to improve their
performance.
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Appendix

The Performance Of Candidates In 113 Geography Paper 1 and 2 Question

Wise

S/N

Topic

Number

questions
per topic

Percentage of
candidates who
scored 30 marks and

above

Remarks

12 Photograph 45.6 Average
interpretation

13 Sustainable use of
Fuel and Power. 37.7 Average
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